Historic, archived document

Do not assume content reflects current scientific knowledge, policies, or practices.



Choice and Rare Hardy Herbaceous

Perennials and Alpine Plants

Lilies

Wholesale Price List FALL 1936 - SPRING 1937

D. & C. Hardy Plant Nursery

WESTMINSTER, MARYLAND Phone Westminster 369-M

Member Maryland Nurserymen Association

This list does not cover everything we grow but only such stock as we have a fair supply of to offer. Correspondence is invited regarding other kinds not listed.

Quality:

We grow only the choice varieties of perennials and rock plants, eliminating the varieties which are in poor demand, and are actually a liability, however, some varieties we grow just because we get calls for them.

Guarantee:

We guarantee any plant we sell to be true to name and in healthy condition, and will replace or refund the money paid for such items which are proved not to be as represented.

Terms cash, or satisfactory reference must accompany all orders from parties unknown to us. 3% discount for cash with order; 2% 10 days; 30 days net.

Complaints must be made in writing to us within five days after receipt of goods.

One to four plants of one variety at each rate; five at 10 rate; 25 at 100 rate. We do not charge for packing. All prices F. O. B. Westminster.

All orders large or small will be appreciated. Send us list of your wants for quotation.

This list cancels all previous lists, quotations, discounts, etc.

EXPLANATION

Practically all stock offered are one and two year transplanted field grown, except where noted.

Practically all varieties offered in this catalogue except where noted will grow nicely in ordinary well drained and well prepared garden soil, with full sunlight or where they get the sun the best part of the day, morning sun preferred wherever possible.

- * Indicates alpines or rock plants, and with the exception of few varieties, can also be used in the border.
- Indicates best cutflower varieties.

Recent New and Rare Hardy Plants

Featured in This Catalogue

A few of the many recent new and rare Hardy Plants
Featured in this Catalogue

Alyssum Saxatele Fl.Pl.

Anemone, 3 new varieties.

Aguilegia Longissima.

" Pyrenaica. 🗆

Anthemis Sancta Johannis.

Armeria Caespitosa.

Aster New Dwarf, in 14 varieties.

- " Frikarti (Wonder of Stafa).
- " Little Pink Lady.
- " Many other new varieties.

Chrys., New Double Korean Hyb.

- " Amelia in Bronze, Red and White.
- " Judith Anderson.

Dianthus Loveliness.

Gailardia Sun God.

Gentiana Acaule Clusii.

Gypsophila Repens Bodgeri.

" Rosenschleir.

' Oldhamiana.

Hemerocallis, New Hybrids.

Iris Dichotoma

" Cristata alba.

Phlex Sub. Camla.

" Nivalis (Seedling).

Hardy Primulas, many choice varieties.

Scabiosa Parnassi.

Sempervivum, many rare forms.

Silena Wherryi.

Thymus Lanicaulis.

Trollius, in varieties.

General List of

Alpine and Perennial Plants

ACAENA-New Zealand Bur

Creeping little foliage plants, for shaded or partial shaded places, best planted in rather light soil. *Glauca, evergreen foliage of bluish hue.

\$1.20 per 10

ACHILLEA—Yarrow

*Ageratifolia, silvery foliage lovely large white flowers, 6 in. high, blooming freely in May-June.

Each 20c; \$1.50 per 10

‡Filapendula Parker's variety, large flat heads of brilliant yellow flowers, 3 ft. June-July.

\$1.00 per 10; \$8.00 per 100

#Millefolium Roseum, pink flowers in June-July, 18 to

‡Ptarmica Perry's White, pure double white flowers blooming freely from June to August, 18 in. \$1.00 per 10; \$7.00 per 100

*Tomentosa, pretty compact growing rock plant, brilliant yellow flowers on 6 to 8 in. stems, May-June. \$1.00 per 10; \$8.00 per 100

ACONITUM-Monkshood

Aconitums are best planted in partial shaded places in rich moist soil.

Fischeri, dark blue flowers on 2-3 ft. stems in early fall. \$1.00 per 10; \$8.00 per 100

Sparks variety, about 4 ft. high, violet blue flowers, July-August \$1.20 per 10

Wilsoni, late fall flowering deep blue flowers 5to 6 ft. Each 20c

ACTINEA—Lakeside Daisy

*Herbacea, large yellow daisy-like flowers in early spring, 6 to 8 in. high......\$1.50 per 10

ADENOPHORA—Ladybells

Potanini, lovely light blue flowers, June-July, 18-24 in. \$1.20 per 10

AETHIONEMA—Persian Candytuft

*Persicum, lovely lilac pink flowers in May-June, 8-10

AGROSTEMMA-Rose Campion

Coronaria, dark crimson flowers, June-July, 2-212 ft. high......\$1.00 per 10

Coronaria alba, a white flowering form of the above. 80c per 10; \$6.00 per 100

^{*—}Alpines or Rock Plants.

^{‡—}Cutflower Varieties.

AJUGA—Bugle

Splendid ground covers for shady places. Can also be grown in full sun.

- *Genevensis, deep blue flowers, 6-8 in. high, May-June......\$1.00 per 10; \$6.00 per 100
- *Reptans, a splendid variety for ground cover in dense shaded places, blue flowers in May. 80c per 10; \$6.00 per 100
- *Reptans Rubra, bronzy foliage, blue flowers, May-June.....\$1.00 per 10; \$8.00 per 100

ALLIUM

*Thibetica, lilac mauve flowers blooming freely in July-August, about 12 in. high.....\$1.20 per 10

ALYSSUM-Goldentuft

- *Saxatile Compactum, the well known basket of gold, yellow flowers in early spring, 12 in \$1.00 per 10; \$8.00 per 100
- *Saxatile Fl. Pl., a new and rare double flowering form of the above, more compact in growth, flowers are deeper yellow and it blooms longer than above.

\$1.50 per 10; \$14.00 per 100

ANCHUSA—Bugloss

- [‡]Barrelieri, bushy dwarf plant with lovely blue flowers in May-June, 15 to 18 in. high......\$1.40 per 10
- ‡Italica Dropmore, gentian blue flowers, May-June, 4 to 5 ft......80c per 10; \$6.00 per 100
- *Myosotidiflora, distinct dwarf specie, small brilliant blue flowers, in April-May, sun or shade. \$1.20 per 10; \$10.00 per 100

ANDROSACE—Rockjasmine

*Lanuginosa, a choice alpine in bloom from June to fall, trailing stems clothed with silvery leaves and terminal umbels of lovely lilac pink flowers. \$1.20 per 10; \$10.00 per 100

*Sarmentosa Chumbyi, rosettes of silky foliage, verbena-like heads of rosy lilac flowers, about 4 in. high, May. Plant in well drained soil.

Each 20c; \$1.50 per 10

*Vitaliana (Douglasia vitaliana), small narrow grey-

> For beautiful autumn display the new Korean "Mums"

ANEMONE—Windflower

Dwarf species.

*Pulsatilla, large violet blue flowers in early spring, 10 to 12 in. high, very attractive, sun. \$1.20 per 10; \$10.00 per 100

- *Pulsatilla alba, a white flowering form of the above. \$1.20 per 10
- *Sylvestris, lovely large white flowers in May-June and few blooms off and on during summer and fall, prefers rather moist soil and partial shade. \$1.20 per 10; \$10.00 per 100
- *Hupehensis, pleasing mauve rose flowers, in August and September, growing about 18 in. high, splendid for border or rockery......\$1.00 per 10; \$8.00 per 100
- ‡Japonica (Japanese anemone), beautiful fall blooming plants, they begin blooming in early September and last until freezing weather cuts them down. Plant in rich moist soil, partial shade or full sun, height 2 to 3 ft.

Alice, silver rose suffused carmine semi-double. 80c per 10; \$6.00 per 100

Prince Henry, double red, dwarf and early. 80c per 10; \$6.00 per 100

Queen Charlotte, semi-double pink. 80c per 10; \$6.00 per 100

- September Charm, new lovely single silvery rose flowers, in full bloom about the middle of September, a good grower and very free flowering, 2 to 2½ ft. high........................80c per 10; \$6.00 per 100
- September Queen, new, a desirable variety, with semidouble flowers of appealing, rosy-red, erect habit, a very free bloomer, 2 ft. high, in full bloom by September 15th, potted plants only for spring delivery. \$1.20 per 10
- *September Sprite, new, a lovely miniature anemone, resembling Hupehensis, but smaller and more dainty, a free bloomer and neat compact habit, 12 in. high. potted plants only for spring delivery.....\$1.20 per 10

Richard Ahrends, large shell-pink flowers with lilac hue......80c per 10; \$6.00 per 100

Rubra, semi-double red.....\$1.00 per 10; \$8.00 per 100

Whirlwind, double white......80c per 10; \$6.00 per 100

The above prices on all Anemone Japonica varieties and on Anemone hupehensis are based on 21/4 in. pots for spring delivery; field grown plants at \$1.20 per 10; \$10.00 per 100

ANTENNARIA—Cat's-Ear

*Dioca Rosea, compact ground cover for sunny, dry places. Silvery foliage and pale pink flowers in May, 4 in. high.....\$1.00 per 10; \$8.00 per 100

^{*—}Alpines or Rock Plants. ‡—Cutflower Varieties.

ANTHEMIS-Golden Marguerite

- *Sancta Johannis, a splendid novelty, with large orange colored flowers, on 18 to 24 in. stems, a fine border plant and good cutflower, June-July.

Each 25c; \$2.00 per 10

*Tinctoria, yellow daisy-like flowers, blooming freely in June-July, 2 ft......80c per 10; \$5.00 per 100

AQUILEGIA—Columbine

- ‡Caerulea, the Rocky Mountain blue columbine. \$1.20 per 10; \$10.00 per 100
- *Canadensis our lovely native Columbine, with redishorange flowers, May-June, 15 to 18 in. high. \$1.00 per 10; \$8.00 per 100
- *Dobbies Imperial Hybrids, considered by many the finest strain of the longspurred columbine. \$1.20 per 10; \$10.00 per 100
- ‡Farquhar's Pink, pretty longspurred pink columbine, \$1.20 per 10; \$10.00 per 100
- *Flabellata nana alba, lovely dwarf species, attractive foliage and ivory white flowers in May-June, 12-15 in. \$1.00 per 10; \$8.00 per 100
- #Hensol Harebell, beautiful vivid blue species, attaining a height of about 2 ft. making splendid display from early May to June. Short spurs.

 \$1.00 per 10; \$8.00 per 100
- Longissima, a rare North American species, delicate pale yellow flowers with very long spurs, often 4 in. long, stock scarce, one year plants at......20c each
- \$\pm\$Mrs. Scott Elliott, another fine strain of the long-spurred columbine.....\$1.00 per 10; \$8.00 per 100
- *Pyrenaica, a miniature species growing only 4 to 6 in. high, lovely deep blue flowers with short spurs, June......\$1.40 per 10; \$12.00 per 100

ARABIS—Rock Cress

- *Alpina Rosea, pale pink flowers in April, 10-12 in. \$1.00 per 10
- *‡Alpina Fl. Pl., pretty double white flowers, April-May......\$1.20 per 10; \$10.00 per 100
- *Aubrietioides, lovely compact growing variety, covered with lavender pink flowers in April-May, 6 in. high \$1.20 per 10; \$10.00 per 100

(Arabis—continued on next page)

Incrusted Saxifraga, do fine planted in the wall

ARABIS-Cont.

ARENARIA-Sandwort

- *Grandiflora, grassy foliage and large white flowers, May-June, 4 to 6 in.......\$1.00 per 10; \$8.00 per 100
- *Montana, a fine Rock Plant with showy large white flowers during May-June, 6 in. high......\$1.20 per 10

ARMERIA-Thrift

- *Caespitosa Hybrids, more robust and having larger flower heads on longer stems than above variety, lovely shades of pink, blooming very freely in May. \$1.40 per 10; \$12.00 per 109
- *Cephalotus Rubra. large heads of deep pink flowers. freely produced in May-June, 10-12 in. high. We consider this variety the showiest..................\$1.20 per 10
- *Laucheana, rosy flowers on 4 to 6 in. stems, blooming freely in May-June.....\$1.00 per 10; \$8.00 per 100
- *Maritima, a lavender pink form of the above. \$1.00 per 10; \$8.00 per 100

ARTEMISIA-Wormwood

ARRHENATHERUM—Oatgrass

*Bulbosum variegatum, a dwarf decorative grass of tufted habit, growing only 8-10 in. high. \$1.00 per 10; \$8.00 per 100

ASCLEPIAS—Butterflyweed

Tuberosa, large heads of brilliant orange flowers, in bloom June-July, 18-24 in. high \$1.00 per 10; \$8.00 per 100

ASTER—Hardy Aster

Various species and hybrids.

- *Alpinus, large lavender blue flowers on 6-8 in. high stems, May-June flowering. \$1.20 per 10; \$10.00 per 100
- *Alpinus Albus, a white flowering form of the above. \$1.00 per 10; \$8.00 per 100 (Aster—continued on next page)

^{*—}Alpines or Rock Plants.

t—Cutflower Varieties.

ASTER—Cont.

- ‡Amellus King George, about 2 ft. high, they form wide bushes smothered with large blue flowers from July to September.....\$1.40 per 10; \$12.00 per 100
- (Wonder of Stafa), considered the best ‡Frikarti hardy aster introduced to date, large lavender blue flowers on 12 to 18 in. stems, of branching habit, attaining a height of 2-2½ ft. in 2 in. pots. \$1.50 per 10; \$14.00 per 100

Field grown plants 25c each.

‡Hybridus Luteus, lovely small bright yellow flowers in clusters on 18 to 24 in. stems, blooming very freely July to September, fine for cut flowers.

Each 20c; \$1.50 per 10.

- The New Dwarf Hybrid Border Asters (Dumosus Hybrids. These new dwarf asters rarely exceed one foot in height, during September the plants are completely covered with blossoms; they are valuable for the edging or for grouping in the front of borders and are also charming for rock garden. We are pleased to offer the following varieties.
- *Countess of Dudley, clear pink flowers with yellow eye, 12 to 15 in. high free bloomer.

\$1.20 per 10; \$10.00 per 100

- *Lady Henry Maddock, clear pale pink dwarf compact habit, 12 in......\$1.50 per 10; \$12.50 per 100
- *Marjorie, large bright rose pink, later blooming than other varieties, 12 in. high.

\$1.20 per 10; \$12.50 per 100

- *Nancy, of dwarf bushy habit and very free flowering, the plants being covered with pale flesh pink flowers, 12 in.....\$1.20 per 10; \$10.00 per 100
- *Ronald, pleasing bright shade of lilac pink with rosepink; very showy......\$1.20; per 10; \$10.00 per 100
- *Snowsprite, a very dwarf and distinct variety, forming compact clumps, smothered with large semidouble white flowers......Each 20c; \$1.50 per 10
- *Victor, the flowers are of good size and of beautiful clear pale lavender blue, only 8 in. high.
 \$1.20 per 10; \$10.00 per 100

1936 Introductions

- *Constance, pure shell-pink, compact habit, 12 in. Each 20c; \$1.50 per 10
- *Diana, semi-double flowers, delicate bluish-pink shade, Each 20c; \$1.50 per 10
- *Hebe, clear lavender-blue, 12 to 15 in. Each 20c; \$1.50 per 10
- *Lavanda, lovely lavender-blue free flowering and early,Each 20; \$1.50 per 10
- *Lilac Time, fine deep lilac-blue, 15 in. Each 20c; \$1.50 per 10

*Niobe, very compact grower, with lovely pure white flowers, 10 to 12 in......Each 20c; \$1.50 per 10 (Aster—continued on next page)

> Anemone September charm We recommend it highly.

ASTER—Cont.

Mad. Carroy, an outstanding novelty, smothered with lavender flowers during September, 12 to 15 in. high. \$1.20 per 10; \$10.00 per 100

All above new dwarf aster strong potted plants for spring delivery. Special offer of the above seven varieties: one each for \$1.25; 3 each for \$3.00; 10 each for \$9.75.

- *Mauve Cushion, a hardy Japanese species, forming round cushion-like plants completely covered with pale mauve colored flowers during October and November. 6-8 in. high......\$1.00 per 10; \$7.00 per 100
- **Subcaeruleus Wartburg Star, new. a giant flowering spring aster equally effective in the rockery or border, bright lavender blue flowers on 12 to 15 in. stems, blooming freely in May-June, fine for cutting.

 \$1.40 per 10; \$12.00 per 100
- **‡Tataricus**, a late fall blooming species, large bold foliage and masses of bluish-violet flowers on 6 ft. stems. \$1.00 per 10; \$8.00 per 100

Aster, Fall flowering or Michaelmas Daisies.

‡Novae-Angliae Barr's Pink, large open semi-double flowers of bright pink with showy gold and bronze center, 4 to 5 ft......\$1.20 per 10; \$10.00 per 100

Nove-belgi type. New varieties.

- ‡Alderman Vokes, a splendid variety of very bushy habit, covered with deep clear rose-pink flowers during September, 2 to 3 ft. high. Each 25c; \$2.00 per 10
- [‡]Blue Bouquet, lovely semi-double clear-blue flowers. compact and free flowering, September, 2 ft. Each 25c; \$2.00 per 10
- [‡]Blue Eyes, considered the best blue aster to date, large pure violet-blue flowers with small yellow eye, September flowering, 3 to 4 ft......Each 25c; \$2.00 per 10
- ‡Little Pink Lady, a charming variety, being very bushy and dwarf, only 2 ft. high, the flowers are large and very attractive rich pink, September to October. Each 25c; \$1.80 per 10; \$15.00 per 100

Above 5 varieties strong potted plants, spring delivery. Special offer of above 5 varieties, one each for \$1.10; 3 each for \$3.00; 10 each for \$8.50.

Popular Varieties

- ‡Blue Gem, semi-double flowers of rich blue, 3 ft. \$1.20 per 10; \$10.00 per 100

^{*—}Alpines or Rock Plants.

^{‡—}Cutflower Varieties.

ASTER—Cont.

‡White Climax, semi-double white flowers, considered the best white, 3 to 4 ft. high.....\$1.00 per 10

ASPHODELUS—Asphodel

Luteus, bright yellow flowers on 3 to 4 ft. spikes, hardy. \$1,00 per 10 ‡Astilbe, See Spirea.

*AUBRIETIA—Purple Rock-Cress ew Large Flowering Hybrids, lovely rock-plant, masses of bright various color flowers from early April to June, 4 in. high...\$1.20 per 10; \$10.00 per 100 New

BAPTISIA—False-Indigo

Australis, dark blue flowers in June, 2 ft., attractive

BETONICA—BETONY

Grandiflora Superba, lilac-rose flowers and close tufty foliage, blooming in June-July, 18-24 in. high. \$1.20 per 10

BUDDLEIA—Butterfly Bush

‡He de France (new), a great improvement over all other varieties, brilliant rosy-purple flowers with a violet suffusion, fragrant and free bloomer, 3 to 4 ft. high. \$1.20 per 10; \$10.00 per 100

Bleedingheart, See Dicentra.

CALLIRHOE—Poppy Mallow

*Involucrata, one of the best trailers for the large rockery; the plant is covered with rich crimson poppy-like flowers all summer......\$1.00 per 10

CAMPANULA—Bellflower

- *Alliariaefolia, splendid border or rock plant, pendent bells of white flowers, 15-18 in. high blooming freely, June-July.....\$1.00 per 10; \$7.00 per 100
- *Carpatica, large blue flowers on compact small bushes, in bloom all summer, 8-10 in. high; fine for rockery and front of border.....\$1.00 per 10; \$8.00 per 100
- *Carpatica Alba, a lovely white flowering form of the above.....\$1.00 per 10; \$8.00 per 100
- *Garganica, low spreading tufts covered with starry light blue flowers, a gem for wall and rockery, May-June flowering......\$1.40 per 10; \$12.00 per 100
- Glomerata, close heads of striking blue flowers, blooming freely in June-July; 18 in.....\$1.20 per 10

Latifolia Macrantha, large bells of pretty purple blue, on 3 to 3½ ft. high stems, June.

\$1.00 per 10; \$8.00 per 100

(Campanula—Continued on next page)

Iris Dichotoma, for July and August Blooming

CAMPANULA-Cont.

- Latifolia Macrantha Alba, a white flowering form of the above. \$1.20 per 10
- *Muralis, dense tufts covered with lovely purple blue flowers, June-July. It prefers little shade.

\$1.50 per 10

- *Poscharskyana, a choice variety, blooming off and on all summer, lovely starry-blue flowers, related to Gorganica Each 20c; \$1.50 per 10
- *Pseudo Raineri, very large blue flowers on 3 to 4 in. stems, blooming freely during summer months, 2 in. pots for spring delivery...................\$1.20 per 10
- *Raddeana, glossy foliage, large violet bells on 9 to 12 in. branching stems......Each 20c; \$1.40 per 10
- *Raineri, a tiny species, large pale-blue flowers on 2 in. stems, June to September, 2 in pots, spring delivery. \$1.20 per 10
- ‡Persicifolia, large pale blue or white saucer-shaped flowers on 3 ft. high stems, June-July, blue and white mixed......\$1.00 per 10; \$8.00 per 100
- ‡Persicifolia Alba Fl. Pl., a beautiful double white flowering form of the above......Each 20c; \$1.50 per 10
- ‡Persicifolia Caerulea Fl. Pl., a fine double blue form. Each 20c; \$1.50 per 10
- †Persicifolia Telham Beauty (True), very large open Cup-shaped flowers, the color is of lilac mauve, 3 to 4 ft......35c each
- *Rotundifolia, the well known blue bells of Scotland, blooming very freely from late June to September. 12 in. high.....\$1.00 per 10; \$8.00 per 100
- *Sarmatica, a fine campanula for Rockery or the Hardy border, pale-blue, flowers during summer months, 12 in. high, one-year plants......\$1.20 per 10
- ‡Medium Canterbury Bells, mixed.

\$1.00 per 10; \$8.00 per 100

CARNATION—Hardy

‡Crimson King (new), dazzling double crimson flowers, in bloom from late spring to fall, an outstanding border plant, 18 in.........\$1.40 per 10; \$12.00 per 100

CENTAUREA—Cornflower

- Dealbata, striking rose-pink flowers in June-July, about 18 in. high......\$1.00 per 10; \$8.00 per 100
- ‡Macrocephala, large golden yellow flowers on erect 2½ to 3 ft. stems, blooms June-July, fine for cutting. \$1.00 per 10; \$8.00 per 100
- Montana (perennial cornflower), large deep blue flowers blooming freely late May and June, about 18 in. high.......80c per 10; \$6.00 per 100

CEPHALARIA—Giant Scabiosa

[‡]Tatarica, large creamy-white flowers in July-August, 5 ft.\$1.00 per 10; \$8.00 per 100

^{*—}Alpines or Rock Plants. †—Cutflower Varieties.

CERASTIUM—Snow in Summer

*Tomentosum, silvery-white foliage and white flowers in MayJune, a fast spreading plant......\$1.00 per 10

CHEIRANTHUS—Wallflower

Allioni, a biennial with dazzling orange flowers in late spring......80c per 10

†Allioni Golden Bedder, novelty, the colors of this fine novelty is beautiful golden-yellow, it will blend better with many other flowers, than the old orange form............\$1.40 per 10; \$12.00 per 100

CHELONE—Turtle-head

Lyoni, heads of purplish red flowers; it starts to bloom in late August to early October, about 18 in. high. We consider it a splendid border plant.

\$1.00 per 10; \$8.00 per 100

CHRYSANTHEMUM—Hardy Garden Varieties

‡New Korean Hybrids, these new chrysanthemums are hardier, most attractive in color; they are early blooming, easier to grow and more profuse blooming; useful as cutflowers.

Five 1936 Introductions

Aphrodite, single, the color is a soft tint of pink in the opening, changing to ivroy-white with the slightest mingling of delicate pink in the fully developed gerbera-like blossoms, flowers are 3 to $3\frac{1}{2}$ in. across, very free flowering, 2 ft. high early October.

Each 25c; \$2.00 per 10; \$18.00 per 100

Indian Summer, large double glowing orange flowers, the unfurled central petals add a luminous golden orange reflection, sturdy erect growth and free flowering, flowers are 3 in. across, 2 to $2\frac{1}{2}$ ft. high, October flowering. Each 30c; \$2.50 per 10; \$22.00 per 100

Romany, fully double flowers, the color is soft-glowing red with bronze tone, illuminated somewhat by the gold petal reverse appearing in the center of flower, in bleom in early October, heightly ft.

Each 30c; \$2.50 per 10; \$22.00 per 100

Saturn, brilliant sparkling orange and bronze, with golden-yellow center, robust branching habit, the single flowers are almost 3 in. across, $2\frac{1}{2}$ to 3 ft, early October...... Each 25c; \$2.00 per 10; \$18.00 per 100

lilac-pink with rose-lavender Venus. single flowers are $2\frac{1}{2}$ in. across, with three or four rows of petals, starting to bloom in late September, height 2^{1} ₂ ft.....Each 25c; \$2.00 per 10; \$18.00 per 100

Korean Hybrids of Recent Introduction

Hebe, lovely, luminous pink which assumes soft lavender-pink tones as the flower matures. The golden-yellow center affects a lovely combination in the nicely formed single blossoms which average 3 in. or more across, producing masses of fragrant blos-soms in almost unbelievable quantities during late September and through October. Height 2 to 2½ ft. \$1.20 per 10; \$10.00 per 100

(Chrysanthemums—Continued on next page)

Aster Little Pink Lady try it

KOREAN CHRYSANTHEMUMS—Cont.

Orion, brilliant canary-yellow which fairly dezzles in the autumn sunlight, it immediately command attention among older varieties of similar color, the flowers are single, 3 in. across, height 2½ ft. October 5.

\$1.50 per 10; \$12.00 per 100

Vulcan, glowing carmine-red which shades to garnet-crimson and finally to an attractive bronze-crimson as the flower matures, it has a double row of ray-like petals with a cospicuous golden center and is delightfully fragrant, habit erect and extremely free, October, 2½ ft..................\$1.20 per 10; \$10.00 per 100

Apollo, a sparkling combination of bronze, red and gold suffused with glowing salmon flowers, are 2 in. across, blooming freely in October; height 2½ ft.
\$1.20 per 10; \$10.00 per 100

Ceres, old gold blended with chamois-yellow and dusted with coppery-bronze, October 10; height 2 to 2½ ft. \$1.20 per 10; \$10.00 per 100

Daphne, an exquisite blending of daphne-pink, with an underlying sheen of lilac-rose with golden stamens in the center, the single flowers 3½ in. in diameter, carried in graceful sprays, fine healthy growing habit; height 2 to 2½ ft., October 12. \$1.20 per 10; \$10.00 per 100

Diana, Chatnay-rose-pink, mingled with lilac-rose and soft salmon; height about 2 ft., October 12.

\$1.20 per 10

*Innocence, an effective dwarf-growing variety, useful for border and rockery, it seldom exceeds 18 in. in height; completely covered with pure single white flowers $2\frac{1}{2}$ in. across....... \$1.00 per 10; \$8.00 per 100

Mars, deep amaranth-red, changing to wine-red, over-laid with velvety sheen, height 2 to 2½ ft., Octo-\$1.20 per 10; \$10.00 per 100

‡Other new and outstanding varieties of hardy Chrysanthemums

Aloma, coppery orange-scarlet, large single, 2½ ft. \$1.00 per 10; \$8.00 per 100

Adironda, flowers are small, rich bronze with coppery gold center, early and hardy.

80c per 10; \$6.00 per 100

*Amelia (Pink Cushion) (Azaleamum), a lovely very dwarf mum, completely covered with double pink flowers from July and on. Splendid for rockery and borders, about 12 to 15 in. high.

\$1.00 per 10; \$8.00 per 100

Three new colors in Cushion Mums

Amelia Bronze, bronze form of above.

Amelia Red, red form of above.

Amelia White, a fine white.

Above three new colors......Each 30c; \$2.50 per 10

Angelo, large light pink flowers, aster flowering.

80c per 10

Barbera Cumming, large yellow flowers very early and hardy.....80c per 10; \$6.00 per 100 (Chrysanthemums—Continued on next page)

^{*—}Alpines or Rock Plants.

^{‡—}Cutflower Varieties.

CHRYSANTHEMUMS—Cont.

- Capt. R. H. Cook, pompon flowered variety, clear deep rose colored petals are tipped golden bronze, a tall grower......80c per 10; \$6.00 per 100
- Cavalier, dazzling single flowers, the color is a rich vermillion-red that does not fade, very free flowering; a desirable new variety, October 15 on; height 2½ ft.....\$1.00 per 10; \$8.00 per 100
- Cosmos, another beautiful single flowering mum, effective color of purplish carmine

80c per 10; \$6.00 per 100

Crimson Splendor, a distinct variety producing masses of rich crimson-maroon and golden-yellow flowers are large fully 4 in. in diameter; late Sept.

\$1.00 per 10; \$8.00 per 100

Dazzler, fine single scarlet, free flowering. 80c per 10; \$6.00 per 100

Early Bronze, very early small flowering pompon. 80c per 10; \$6.00 per 100

Excelsior, medium size yellow. 80c per 10; \$6.00 per 100

- Frances Whittlesey, large rich bronze and garnet, late September.....\$1.00 per 10; \$8.00 per 100
- Granny Scovil, well-formed fluffy flowers, are fully $4\frac{1}{2}$ inches across; the color is a glowing, clear, warm coral-bronze very attractive, in full bloom by October 10; height 2 ft.....\$1.20 per 10; \$10.00 per 100
- Grenadier, large single flowers, 3 to 3½ in, across in clusters, bright crimson-red with an underlying sheen of bronze, in full flower early October.

 80c per 10; \$6.00 per 100

- Jean Cumming, large flowers of purest white, with the softest yellow and blush shading at the center of the buds; erect growth of medium height, September 15. \$1.00 per 10; \$8.00 per 100
- Jean Treadway, another lovely new variety, large flowers of the aster type, the color is a lovely sparkling pink with a dark rose-center in full bloom, September 30.....\$1.00 per 10; \$8.00 per 100
- Judith Anderson, new garden pompon, the flowers are small, about $1\frac{1}{2}$ in. across, well rounded in form, the color is clear buttercup-yellow, effective in the garden or flowered as a pot-plant, it is of dwarf bushy habit, being in full bloom by early October.

 \$1.50 per 10; \$12.00 per 100

Louis Schling, another splendid new variety that should find a place in every collection, flowers are 3 in. across with three or four rows of petals, fluffy and distinct in appearance, glowing salmon-red in color, changing to lovely soft bronze-salmon as the flower matures, healthy and free flowering.

\$1.20 per 10; \$10.00 per 100

Mrs. Calvin Coolidge, Cardinal red, very showy single. 80c per 10; \$6.00 per 100

(Chrysanthemums—Continued on next page)

Scabiosa Parnassi A rare Gem for Rockery

CHRYSANTHEMUMS-Cont.

Mrs. Phillips, a reliable old variety, large single pink flowers, very hardy.............80c per 10; \$6.00 per 100

October Gold, large Coppery orange, changing to golden-yellow......\$1.00 per 10; \$8.00 per 100

October Girl, single or semi-double, fully 2 in. across, clear rose-pink, free bloomer, October 1.

\$1.00 per 10; \$8.00 per 100

Ohio Gold, fine large yellow . \$1.00 per 10; \$8.00 per 100

Old Rose, lovely old rose color without any lilac shades, free and early......\$1.00 per 10; \$8.00 per 100

Ouray, the masses of bloom are a rich bronze, with a coppery glow, early and very hardy pompon.

80c per 10; \$6.00 per 100

*Pink Cushion, See Amelia.

R. Marion Hatton, bright canary-yellow of decorative type, free blooming and early.

80c per 10; \$6.00 per 100

Ruth Cumming, attractive rich redish bronze in color, with terra-cotta shades, blooming very freely.

80c per 10; \$6.00 per 100

Ruth Hatton, small double ivory white flowers, early.

80c per 10; \$6.00 per 100

Vived, an effective large flowering variety, very striking color of rosy crimson or amaranth shade very free and early............\$1.00 per 10; \$8.00 per 100

White Doty, a fine white pompon 3 ft. high.

80c per 10; \$6.00 per 100

Morifolium, a lovely species of vigorous branching habit, smothered with small single pink flowers from late September on, about 18 in. high.

\$1.00 per 10; \$8.00 per 100

The above prices on all Chrysanthemums are based on strong potted plants for spring delivery.

Chrysanthemum Maximum Shasta Daisy

CIMICIFUGA—Bugbane

Racemosa, a fine native plant for shade and moist places, white flowers on 4 to 6 ft. stems in July-August.........\$1.00 for 10; \$8.00 per 100

COREOPSIS—Tickseed

(Coreopsis—Continued on next page)

^{*—}Alpines or Rock Plants.

⁻Cutflower Varieties.

COREOPSIS—Cont.

‡Grandiflora, large yellow flowers all summer, single and semi-double mixed..... 80c per 10; \$5.00 per 100

CORONILLA-Crown Vetch

CORYDALIS—Fumitory

*Lutea, a choice and pretty rock plant, small yellow flowers from late May to Fall, easily grown in sun or shade, 12 in. high...............Each 20c; \$1.70 per 10

CYPRIPEDIUM—Lady's Slipper

DELPHINIUM

‡Belladonna, light blue......\$1.00 per 10; \$8.00 per 100 ‡Bellamosum, dark blue......\$1.00 per 10; \$8.00 per 100

‡Blackmore and Langdon Hybrids, single, semi-double and double flowers of many shades.

\$1.20 per 10; \$10.00 per 100

DIANTHUS—Pinks

- *Alpinus Allwoodi, the plant we offer under this name is a seedling that we selected among a lot of seedlings coming from seed bought under above name, it blooms freely in June and off and on during summer and fall months. The flowers are large, of pleasing deep pink shade, with crimson ring toward the center, on 4 to 6 in. stems. Compact grower with effective glaucous foliage easily grown in ordinary soil in full sun or partial shade; stock offered has been propagated from cuttings.

Each 20c; \$1.50 per 10; \$14.00 per 100

- *Arvenensis, lovely fragrant pink flowers on compact mats of grey-green foliage late May and June. \$1.00 per 10; \$8.00 per 100
- *Caesius, very fragrant small pink flowers on 4 to 6 in. stems, very compact grower, cuttings propagated. \$1.00 per 10; \$8.00 per 100
- *Deltoides (Maiden Pink), trailing mats of glossy green foliage, small pink flowers speckled with crimson, 6 to 8 in. high, June-July.

80c per 10; \$6.00 per 100

(Dianthus—Continued on next page)

Shasta Supreme, include it in your Cutflower list.

DIANTHUS-Cont.

- *Deltoides Albus, a lovely white form of the above. \$1.00 per 10; \$8.00 per 100
- *Deltoides Brilliant, a glowing crimson form. \$1.00 per 10; \$7.00 per 100
- *Deltoides Erecta, a lovely English novelty with dainty richer colored flowers erect habit. \$1.20 per 10; \$10.00 per 100
- ‡Furst Bismark, same habit as Beatrix with attractive crimson flowers............\$1.20 per 10: \$10.00 per 100
- *‡Loveliness, novelty, of outstanding merit, the flowers have large laciniated petals, of a most exquisite mauve tint, very fragrant, and it will appeal to any one who sees it, 15 in. high, in bloom May to July, 2½ potted plants, spring delivery.

\$1.20 per 10; \$10.00 per 100

- *Neglectus, grassy green foliage and lovely deep rose flowers on 4 in. high stems.....\$1.20 per 10
- *Rose cushion, compact gloucous foliage, smothered with lovely rose-pink flowers in June, 2½ in. pots. \$1.00 per 10; \$8.00 per 100
- *Seguieri, a pink that really blooms all summer, rosecolored flowers on 12 to 15 in. stems, fine and rare, 2 in. pots, spring delivery. \$1.00 per 10; \$8.00 per 100
- *Subacaule, a rare little alpine species, pale pink flowers, late May and June, 4 to 6 in.
 \$1.00 per 10; \$8.00 per 100

‡Barbatus (Sweet William)

Newport Pink, lovely salmon pink, wonderful for cutting..........80c per 10; \$6.00 per 100

Scarlet Beauty, a beautiful shade of scarlet.

80c per 10; \$6.00 per 100

*Nanus (dwarf Sweet William), 4 to 6 in.; High mixed colors only.................................80c per 10; \$6.00 per 100

DICENTRA—Bleedingheart

*Eximia, a dwarf variety, finely cut foliage and showy pink flowers in bloom from spring to fall. \$1.00 per 10; \$8.00 per 100

‡Spectabilis, the old favorite bleedingheart, strong field plants......\$1.80 per 10; \$15.00 per 100

DICTAMNUS—Gas Plant

Albus, a hardy plant that will grow and remain in the garden for many years, best left undisturbed as it improves with age, June-July flowering. \$1.50 per 10

Ruber, a red flowering form of the above...\$1.50 per 10

^{*—}Alpines or Rock Plants.

⁴⁻Cutflower Varieties.

DIGITALIS—Foxglove

‡Ambigua, a true perennial foxglove, yellow flowers on 2 to 3 ft. stems, in June-July.

80c per 10; \$6.00 per 100

DORONICUM—Leopardbane

- *Clusii, new. large yellow flowers on 15 to 18 in. branching stems, blooming very freely April and May, fine for cutting and very showy garden plant. Each 20c; \$1.70 per 10
- ‡Excelsum, handsome large yellow flowers that make a wonderful showing, blooming freely in April and May, it is one of the finest perennials for cutflowers, if forced in greenhouse, can be brought in bloom from January 1st, on; height 2½ to 3 ft.

\$1.20 per 10; \$10.00 per 100

DRABA—Whitlow Grass

- *Fladnizensis (Frigida), attractive evergreen foliage of very compact growth, lovely pure white flowers in early spring, 3 in, high...\$1.20 per 10; \$10.00 per 100
- ‡Echinacea purpurea, See Rudbekia Purpurea.
- *Edelweiss, See Leontopodium.

EDRAIANTHUS—Wahlenbergia

*Dalmaticus, a choice dwarf alpine bearing clusters of bright purple blue flowers, on short trailing stems; June flowering, 2" pots....\$1.00 per 10; \$8.00 per 100

ERIGERON—Fleabane

‡Speciosus, large daisy-like blue flowers, violet tinted and yellow centers, 18 to 24 in., June-July.

\$1.00 per 10

ERINUS—Liver Balsam

*Alpinus Roseus, light carmine flowers on 4 to 6 in. stems, May-June, best planted in light soil in full sun; give winter protection.

\$1.20 per 10; \$10.00 per 100

*Dr. Hanelle, a glowing crimson flowering form of the above......\$1.20 per 10; \$10.00 per 100

ERODIUM—Heronbill

- *Chamaedryoides Roseum, a tiny alpine covered with delicate pink veined crimson flowers from May to November, a gem; potted plants, spring delivery.
- *Manescavi, rosy-purple flowers from June to September, fine for border and rockery, 15 to 18 in. high.

 Each 20c; \$1.50 per 10

Pentstemon Crandalli a lovely gem of easy culture, rare

ERYNGIUM—Sea-Holly

‡Amethestimum, thistle-like blue flowers in June-July, 3 to 4 ft. high......80c per 10; \$6.00 per 100

EUPATORIUM—Hardy Ageratum

‡Coelestimum, azure blue flowers, in bloom during August and September, 18 to 24 in. high.

80c per 10; \$6.00 per 100

EUPHORBIA—Spurge (Mikwort)

*Myrsinites, very showy bluish foliage and heads of pale yellow flowers in May, trailing habit. \$1.00 per 10; \$7.00 per 100

*Polychroma, a showy variety for the border or rock-

FUNKIA—(Hosta)

Subcordata Grandiflora, the well known white Augustlily, a fine plant for shade.....\$1.50 per 10

Variegata, variegated foliage, blue flowers on 2 ft. high stems in July. A good edging plant. \$1.00 per 10; \$8.00 per 100

GALEGA—Goat's rue

[‡]Hartelandi, bushy plants with graceful foliage and pinkish-lavender, pea shaped flowers, June to August; 2 to 3 ft. high...........\$1.00 per 10; \$8.00 per 100

GAILARDIA—Blanket Flower

‡Giant English Hybrids, many lovely shades. 80c per 10; \$5.00 per 100

[‡]Sun God, an outstanding new gailardia that should be in every garden, very large clear-yellow flowers, on strong, stiff stems, we hope to be able to offer for spring delivery, potted plants at 20c each; \$1.50 per 10

GENTIANA—Gentian

*Acaule Clusi, huge dazzling gentian blue trumpets flowers, blooming in April and May and sometime again in fall, only 2 to 3 in. high, best planted in rich moist soil with little shade.

Each 25c; \$2.00 per 10; \$18.00 per 100

- *Hascombensis, a pretty new gentian, resembling septemfide, beautiful blue flowers, speckled white at the base, partial shade with some moisture......Each 25c
- *Septemfida, an easily grown summer flowering variety, with clustered heads of lovely blue shades, the 8-10 in. stems are trailing in habit; it prefers partial shade. Each 25c; \$2.00 per 10

Geranium—Cranesbille

*Lancastriens (new), a lovely gem for rockery and in front of border, the delicate light salmon-pink flower appears off and on all summer on 4 to 6 in. stems, very hardy and one of the finest rock plants.

Each 25c; \$2.00 per 10

^{*—}Alpines or Rock Plants.

t--Cutflower Varieties.

GEUM-Avens

*Borisi, large vivid orange-scarlet flowers on 8 to 10 in. stems, it blooms in May, June and off and on till fall, very hardy and fine rock plant.

Each 20c; \$1.50 per 10

- ‡Princess Juliana (new), large Semi-double orange colored flowers, from May to July, 18-24 in. high, hardy and free......Each 20c; \$1.50 per 10
- †Lady Stratheden, a beautiful double yellow, flowers form of above variety.....\$1.00 per 10; \$8.00 per 100

GLOBULARIA-Globe Daisy

- *Cordifolia, prostrate shrublet, with glossy evergreen foliage, splendid for rock crevices and between stone walks, blue flowers on 3 to 6 in. stems.

\$1.20 per 10; \$10.00 per 100

*Trichosantha, compact evergreen foliage and blue globe shaped flowers in May-June, about 12 in. high. 80c per 10; \$6.00 per 100

GYPSOPHILA—Babysbreath

- *Repens, a free spreader covered with white and pale pink flowers in May-June...\$1.00 per 10; \$8.00 per 100

Three fine new Gypsophila

‡Repens Bodgeri, large double white flowers tinted pink blooming at least two weeks earlier than Bristol Fairy, blooming nearly all summer, bushy compact habit, height about 2 ft., fine for cutting and garden effect, fiield plants............\$2.50 per 10; \$22.00 per 100 2 14 in. pots.

\$1.50 per 10; \$12.00 per 100; \$100 per 1000

- ‡Oldhamiana, similar to paniculata but more erect, continuous blooming and large flowers tinted flesh and pink, fine for cutting......\$1.70 per 10; \$15.00 per 100

HELENIUM—Sneezewort

‡Crimson Beauty (new), compact growing variety with very large bronze-crimson flowers, from June to fall, only 18 to 24 in. high.

Each 20c; \$1.50 per 10

(Helenium—Continued on next page)

Potentilla Tonquei for wall planting.

HELENIUM—Cont.

- ‡Madam Canivet, another fine new variety with beautiful large golden yellow flowers from June to September, 2 to 2½ ft. high........Each 20c; \$1.50 per 10
- ‡Pumilum Magnificum, a splendid dwarf variety that blooms freely from late June to September, large yellow flowers on compact branching stems, 2 ft.

\$1.40 per 10; \$12.00 per 100

‡Riverton Gem. old gold changing to wallflower-red, blooming freely in late summer, 3 to 4 ft. \$1.20 per 10

HELIANTHEMUM—Sunrose

*Album Plenum, double white.

\$1.00 per 10; \$8.00 per 100

*Euttercup, single golden yellow.

\$1.00 per 10; \$8.00 per 100

*Fireball, double bright scarlet.

\$1.00 per 10; \$8.00 per 100

*Mixed varieties and seedlings.

80c per 10; \$6.00 per 100

HELIANTHUS—Perennial Sunflower

*Multiflorus Fl. Pl., large double dahlia-like goldenyellow flowers in great profusion, from late July to September; about 3 to 4 ft. high.

\$1.00 per 10; \$8.00 per 100

HELIOPSIS—Orange Sunflower

HELLEBORUS—Chistmas Rose

- *Niger, evergreen foliage, with lovely single rose-like white flowers, sometimes flushed with pink, on erect 6 to 8 in. high stems; winter flowering, December to March......Each 45c; \$4.00 per 10; \$38.00 per 100

HEMEROCALLIS—Daylily

‡Dr. Regel, lovely rich orange-yellow flowers in May, fragrant and good cutflower about 18 in. high. \$1.00 per 10; \$8.00 per 100

‡Flava, sweet scented clear yellow flowers in June 2½ ft. \$1.00 per 10; \$8.00 per 100

‡Florham, a strong grower 3 to 3½ ft. high, large golden yellow flowers, June-July.

\$1.00 per 10; \$8.00 per 100

- ‡Fulva, coppery shaded crimson flowers, on 3½ to 4 ft. stems, June-July......80c per 10; \$6.00 per 100

*—Alpines or Rock Plants.

⁻⁻ Cutflower Varieties.

HEMEROCALLIS-Cont.

†Thumbergi, a late and very free blooming variety, funnel shaped flowers of rich buttercup yellow on 2 to 3 ft. stems, July-August.

\$1.00 per 10; \$8.00 per 100

‡Hemerocallis, new giant flowering Hybrids. Much interest has been aroused recently by splendid new developments in Day-Lilies, we have several varieties, but our stock is rather too low to permit us to list each variety. To those interested we offer one each of ten choice varieties that will give you blooms from May to late August. Special offer one each of ten varieties for \$5.00.

HEUCHERA—Coralbells

The coralbells are best planted in rather light soil, in full sun or partial shade.

- ‡Brizioides, a strong grower with light pink flowers blooming profusely from late May to August, 18 to 24 in......\$1.00 per 10; \$8.00 per 100
- *‡Edge Hall, lovely large bell-shaped flowers of salmon pink shades on 15 to 18 in. stems, May to July. \$1.50 per 10; \$14.00 per 100
- *Perry's white, a very dwarf and compact variety of very appealing effect, large bells of pure white flowers on 12 to 15 in. stems, May to July....\$1.50 per 10
- *Pluie de Feu, lovely coral red variety.

\$1.40 per 10; \$12.00 per 100

*‡Rosamundi, a splendid coral pink variety, a good grower and fine for cutting, 18 in., May to July. \$1.20 per 10; \$10.00 per 100

HIBISCUS-Mallow

New Giant flowering mixed.

80c per 10; \$6.00 per 100

New Giant Red, very showy red.

\$1.00 per 10; \$8.00 per 100

HOLLYHOCK-Althea Rosea

Double Pink, white, red, yellow, and maroon. 80c per 10; \$6.00 per 100

Double (Orange Prince), beautiful orange color. 80c per 10; \$6.00 per 100

Hosta, See Funkia.

HUTCHINSIA

HYPERICUM-St. Johnswort

Moserianum, a shrubbery type variety, large golden yellow flowers all summer; considered the finest of the shrubbery Hypericum, about 18 in. high.

\$1.20 per 10; \$10.00 per 100

(Hypericum—Continued on next page)

The new Dwarf Border Aster are very attractive

HYPERICUM—Cont.

*Reptans, a splendid creeping variety, making very compact mats and covered with large golden-yellow flowers in June, very hardy and evergreen foliage.

\$1.00 per 10; \$7.00 per 100

IBERIS—Candytuft

*Sempervirens, splendid border or rock plant evergreen bushes covered with white flowers in early spring. \$1.00 per 10; \$8.00 per 100

*Snowflake, a splendid new Iberis with large pure white flowers. We offer the true stock propagated from cut-\$1.40 per 10; \$12.00 per 100

*Little Gem, a dwarf and very compact form of the

INCARVILLEA—Perennial Gloxinia

*Delavayi, large rich rose flowers on 18 in. stems, in June, one year. \$1.20 per 10

IRIS—Flag

*Arenaria (Sand Iris), a lovely little iris with fairly large yellow flowers in May, 3 to 4 in.

Each 20c; \$1.50 per 10

*Cristata, of creeping habit, large pale blue flowers on 6 in. stems, May-June.....\$1.00 per 10; \$7.00 per 100

*Cristata Alba, a rare white flowering form of the above....... Each 20c; \$1.50 per 10; \$12.00 per 100 Both above cristata varieties will do well in sun or shade.

*Gracilipes, a little gem, with dainty blue flowers, veined lilac and crested with orange. Plant in light rich soil in shade. Each 20c; \$1.80 per 10

Dichotoma (Vesper Iris), a rare Iris of easy culture, producing its lovely lilac-colored flowers from July to September, about 2 ft. high.

Each 25c; \$2.00 per 10

Tectorum (Roof Iris), large attractive blue flowers in May-June, about 15 in. high

80c per 10; \$6.00 per 100

*Pumila Type, 6 to 8 in. high.

Fairy, lovely pale blue.....\$1.40 per 10 Orange Queen, orange yellow.....\$1.20 per 10 Sambo, beautiful deep blue...\$1.00 per 10; \$7.00 per 100 La Fiancee, white......\$1.20 per 10; \$10.00 per 100 Stewart Hyb., yellow.......\$1.00 per 10; \$8.00 per 100 Pumila Mixed.......80c per 10; \$4.00 per 100

Verna, a lovely native, that will do fine in partial shaded places, violet blue flowers in May, 4 to 6 in.

\$1.00 per 10; \$8.00 per 100

Kaempferi (Japanese Iris), the most beautiful of irises making splendid display in the garden, during late June and early July; height about 3 ft.

(Iris—Continued on next page)

^{*—}Alpines or Rock Plants.

^{7 --} Cutflower Varieties.

IRIS-Cont.

Eleanor Parry, double claret purple flamed with white and blue......\$1.40 per 10; \$12.00 per 100

Gold Bound, a fine double white, gold banded center. \$1.20 per 10; \$10.00 per 100

Melpomene, double soft blue. \$1.20 per 10

Purple and Gold, double rich violet purple, with golden throat.....\$1.20 per 10; \$10.00 per 100

Siberica (Siberian Iris), long grassy foliage and lovely blue flowers, late May and June, 18 to 24 in.

80c per 10; \$5.00 per 100

Siberica Perry's Blue, a choice new variety with very large clear-blue flowers on stout, stiff stems, a good grower and very free bloomer.

\$1.00 per 10; \$8.00 per 100

Siberica Snow Queen, a lovely white form rather dwarf................\$1.00 per 10; \$8.00 per 100

LATHYRUS—Perennial Pea

Latifolia, mixed colors......\$1.00 per 10; \$8.00 per 100

LAVANDULA-Lavender

Stoechas, a dwarf distinct species with deep lavender flowers, not very hardy............\$1.20 per 10

‡Vera (Sweet Lavender), lavender flowers on about 18 in. stems \$1.00 per 10; \$8.00 per 100

LEONTOPODIUM—Edelweiss

*Alpinum, interesting alpine, with silvery foliage, woolly light yellow flowers.

\$1.20 per 10; \$10.00 per 100

LIATRIS—Gayfeather

‡Pycnostachya, long spikes of showy rich purple flowers blooming very freely in July-August, 4 ft. high. \$1.00 per 10; \$8.00 per 100

Scariosa, clear purple flowers on 3 ft. high, branching stems. \$1.20 per 10; \$10.00 per 100

*Spicata, similar to Pycnostachya, earlier in bloom and not quite as tall..........\$1.00 per 10; \$8.00 per 109

LINARIA—Toadflax

*Alpina, a dainty species with lovely purple flowers, with orange lip, in bloom all summer.
\$1.20 per 10; \$10.00 per 100

*Aquitriloba, a close creeping little gem, covered with

lovely pale mauve flowers, with a reddish purple palate, from early Spring to summer. Prefers little shade..........\$1.20 per 10; \$10.00 per 100

*Canon J. Went, delicate small pink flowers on 18 to 24 in. erect stems, a fine perennial variety.
\$1.00 per 10; \$8.00 per 100

'Cymbalaria, the well known Kenilworth Ivy. \$1.00 per 10

If other Violas have disappointed you Try Purple Glory.

LINUM—Perennial Flax

*Alpinum, a fine dwarf variety with clear sky-blue flowers, blooming freely during summer months, 15 in. \$1.00 per 10

*Flavum, lovely golden yellow flowers from late May to July, 12 to in.....\$1.00 per 10; \$8.00 per 100

LOBELIA—Cardinalflower

‡Cardinalis, a fine native that deserves a place in the garden, July and August flowering, 2 to 3 ft. \$1.00 per 10; \$8.00 per 100

LOTUS—Babies' Slippers

*Corniculatus, Fl. Pl., a hardy trailer with attractive dark green foliage and double yellow flowers in sum-\$1.50 per 10

LUPINUS—Lupine

‡Polyphyllus, pink, blue, white or mixed. \$1.20 per 10; \$10.00 per 100

LYCHNIS—Campion

LYSIMACHIA—Loosestrife

‡Clethroides, a showy plant, produces long drooping spikes of pure white flowers during July and August, 2 to 3 ft.; it likes moist places.

\$1.00 per 10; \$8.00 per 100

LYTHRUM—Purple Loosestrife

Virgatum, lovely rosy purple flowers on 2 to 4 ft. well branched bushes, giving a beautiful effect from July to September, a much showier variety than the common superbum roseum....\$1.40 per 10; \$12.00 per 100

MATRICARIA—Fever Few

*Little Gem, lovely dwarf variety, with double white flowers, from June and on, 12 in.....\$1.00 per 10

* Golden Ball, a fine yellow form of the above.

\$1.00 per 10

MAZUS

*Reptans, a close creping ground cover for shade or sun, covered in early spring with dainty lilac flowers with white lip......\$1.00 per 10; \$8.00 per 100

MERTENSIA —Virginia Bluebell

*Virginica, one of the loveliest spring blooming plants, the flowers are reddish purple when in bud, changing to lovely gentian blue, when open, 12 to 15 in. high. \$1.00 per 10; \$8.00 per 100

MONARDA—Bergamot

‡Scarlet, and white, separate.

\$1.00 per 10; \$8.00 per 100

^{*—}Alpines or Rock Plants. —Cutflower Varieties.

MYOSOTIS—Forget-Me-Not

- *Palustris Semperflorens, perennial forget-me-not in bloom from May to fall, best planted in moist soil. 80c per 10; \$6.00 per 100
- *Palustris (Pink), a lovely seedling that has been growing and blooming very freely for us......\$1.00 per 10

NEPETA

- *Mussini, deep violet blue flowers produced in profusion during spring and early summer, 10 to 12 in. \$1.00 per 10; \$8.00 per 100

OENOTHERA—Evening Primrose

- *Fraseri, large yellow flowers in June-July, 12 to 15 in. \$1.00 per 10
- *Mexicana Rosea, lovely pale pink flowers all summer, 12 in......\$1.00 per 10; \$8.00 per 100
- *Missouriensis, trailing species with very large lemon yellow flowers, June-July.....80c per 10; \$6.00 per 100
- Speciosa, large pure white flowers on 18 in. stems; late May to July......80c per 10; \$5.00 per 100

PACHYSANDRA—Japanese Spurge

Terminalis, the ideal ground cover for shady places. 80c per 10; \$6.00 per 100

PAPAVER-Poppy

- *Nudicaule (Iceland Poppy), a little larger growing than above variety......80c per 10; \$6.00 per 100
- Orientale (Oriental Poppy), beautiful named varieties.
- Beauty of Levermore, dark crimson with black blotch. \$1.20 per 10; \$10.00 per 100
- Lula A. Neely, most popular variety with brilliant oxblood-red flowers on erect stiff stems, 2½ in. pots. \$1.20 per 10; \$10.00 per 100
- May Saddler, salmon pink with black markings. \$1.20 per 10; \$10.00 per 100
- Mrs. Perry, orange apricot and very free bloomer. \$1.20 per 10; \$10.00 per 100
- Olympia, large flowers of beautiful double scarlet. \$1.00 per 10; \$8.00 per 100
- Oriflame, very large deep crimson flowers, strong growth. \$1.40 per 10
- Perry's White, sating white with a crimson-maroon blotch at the base of each petal.
 \$1.50 per 10; \$14.00 per 100

(Papaver—Continued on next page)

Seedlings, Cuttings and division for lining out. Let us quote you.

PAPAVER-Cont.

Wurtembergia, large flowers of brilliant glowing rosered, very striking......\$1.20 per 10; \$10.00 per 100

PENTSTEMON-Beardtongue

‡Barbatus Torrey (chelona barbatus), slender tubular scarlet red flowers, set on 3 to 4 ft. stems, blooming profusely in June to July; wonderful for cutting.

80c per 10; \$5.00 per 100

- ‡Barbatus Pink Beauty, a lovely clear shell pink form of the above, not quite as tall and blooms one to two weeks earlier.....\$1.20 per 10
- ‡Digitalis, a very free flowering variety, white flowers on 3 ft. stems, from late May to July......\$1.00 per 10
- *Crandalli, a choice and rare creeping little gem, with lovely blue flowers in the spring months, easily grown in any ordinary soil in full sun.

\$1.80 per 10; \$15.00 per 100

- Ovatus, rich purplish blue flowers on 18-24 in. branching stems, June-July.....\$1.20 per 10
- *Pubescens Dwarf Form, very hardy and lovely rock or border plant, covered with bright lavender-blue flowers, 6-8 in. high, in May-June......\$1.20 per 10

PHLOX-Various Species

*Subulata Mountain Pink

Apple Blossom, exquisite light pink, compact habit. \$1.00 per 10; \$8.00 per 100

Apple Blossom, the true English garden hybrid, with soft apple Blossom-pink flowers, very nice, distinct from above variety.....\$1.20 per 10

Atropurpurea, very showy brilliant red.

\$1.00 per 10; \$7.00 per 100

- Autumn Rose (new), bright rose with large dark red center, blooms later than rosea and lasts longer, blooms freely and continuously again in the fall, foliage is distinct dark green and compact in growth. \$1.20 per 10
- Blue Hill, the finest of the lavender blue.

\$1.20 per 10; \$10.00 per 100

Erittoni, rather light foliage and white, star-like flowers, with darker centers formed by rings of blue dots, distinct and very attractive.

\$1.00 per 10; \$8.00 per 100

- *Camla (Cameaensis), a rare English novelty, the flowers are very large of glistening salmon-pink, it is said to bloom from May to September......35c each.
- Fairy, small light lilac with purple eye.....\$1.00 per 10
- G. F. Wilson, lavender pink flowers blooming freely for

(Phlox—Continued on next page)

[—]Alpines or Rock Plants. —Cutflower Varieties.

PHLOX-Cont.

- Moerheimi, compact grower with large carmine-pink flowers. 80c per 10; \$6.00 per 100
- *Nelsoni, lovely distinct pure white, attractive foliage of very compact growth......\$1.20 per 10
- Nivalis (Seedling), lovely large clear pink flowers, with a distinct bright crimson center; it blooms about two weeks later than other varieties and often times completely covered again during fall months, we recommend it very highly.......\$1.20 per 10; \$10.00 per 100
- Rosea, the well known Mountain Pink.

80c per 10; \$5.00 per 100

Rosea Improved, an improved form of rosea.

\$1.00 per 10; \$8.00 per 100

- Vived, a compact and slow grower with fiery rose flowers........\$1.20 per 10; \$10.00 per 100
- *Amona (Procumbens). seme-like subulata in growth, with deep pink flowers in early spring.
 \$1.00 per 10; \$7.00 per 100

*Divaricata, our beautiful blue native phlox.

\$1.00 per 10; \$8.00 per 100

- *Divaricata alba, a pure white form of the above, 2½ in. pots. \$1.00 per 10
- *Divaricata Laphami, an hybrid, with clear lavender blue flowers; it blooms later and longer than divaricata......\$1.20 per 10; \$10.00 per 100
- *Hybrid Arendsi Louisa, lovely pale lilac flowers from May to fall, about 18 in. high......\$1.50 per 10
- *Ovata (Carolina), bright rosy-red flowers, on 12 to 15 in. stems, blooming very profusely in May and June; fine for rockery and border.

\$1.00 per 10; \$8.00 per 100

- Maculata Alpha, closely resemble Mrs. Lingard in foliage and growth; large panicles of soft carmine flowers, from June to fall a brighter and showier color than Mrs. Verboom. \$1.20 per 10; \$10.00 per 100
- Mrs. Lingard (suffruticosa type), a too well known to describe. Pure white flowers on 2 to 3 ft. stems. \$1.00 per 10; \$8.00 per 100

Phlov

1 1 7 1

Decussata, Hardy Garden Phlox.

Albion, a lovely pure white. Medium grower.

80c per 10; \$6.00 per 100

Beacon, cherry red tall grower.

\$1.00 per 10; \$8.00 per 100

Comus, clear cherry-red, overspread bright scarlet, Sturdy growth, medium height.

\$1.00 per 10; \$8.00 per 100

(Phlox—Continued on next page)

Gaillardia Sun God Know It?

PHLOX-Cont.

Dorothy, uniform shade of clear pink......\$1.00 per 10

Count Zepplin, white with red center.

\$1.00 per 10; \$8.00 per 100

Fuerbrand, brilliant crimson scarlet.

\$1.00 per 10; \$8.00 per 100

Enchantress, light rose-pink shaded salmon pink.

\$1.00 per 10; \$8.00 per 100

Ethel Prichard, French mauve, early in the morning and on cloudy days looks almost as pale blue as phlox divaricata......\$1.00 per 10; \$8.00 per 100

Jules Sandeua, large flowers of pure bright pink, rather dwarf in growth...\$1.20 per 10; \$9.00 per 100

Milly von Hoboken, a fine strong grower, extra large heads of bright pink flowers, with mauve suffusion, very free flowering........\$1.00 per 10; \$8.00 per 100

Mrs. Scholton, a beautiful and very attractice salmonscarlet......\$1.20 per 10; \$10.00 per 100

Etarlight (new), violet-red, shading to lilac, with prominent white center.........\$1.20 per 10; \$10.00 per 100

Thor, an old reliable variety with deep salmon pink flowers......\$1.00 per 10; \$7.00 per 100

Mixed Hardy Phlox.......\$5.00 per 100; \$40.00 per 1000

PHYSOSTEGIA—False Dragonhead

‡Vived, a dwarf variety with large deep pink flowers, blooming freely in September.

80c per 10; \$5.00 per 100

PLATYCODON—Balloonflower

Grandiflorum blue, large blue flowers during summer months, about 2 ft. high......80c per 10; \$6.00 per 100

*Mariesi, a dwarf variety of the above.

80c per 10; \$6.00 per 100

PLUMBAGO—Leadwort

*Larpentae, one of the loveliest summer flowering rock or border plant, covered with bright deep blue flowers from July to September; 10 to 12 in. high. \$1.20 per 10; \$10.00 per 100

POLEMONIUM—Jacob's Ladder

^{*—}Alpines or Rock Plants.

⁻Cutflower Varieties.

POLEMONIUM—Cont.

*Reptans, dwarf bushy plant with showy blue flowers in the spring, 12 to 15 in...\$1.00 per 10; \$8.00 per 100

Richardsoni, 18 to 24 in. high, beautiful blue flowers during May and June.....\$1.00 per 10

POLYGONUM—Fleeceflower

*Affine, pale pink bloobs in late summer and fall on 10-12 in. stems. Partial shade.....Each 20c; \$1.50 per 10

*Vaccinifolium, a fine creeper with huckleberry-like leaves, soft pink flowers in September-October.
\$1.20 per 10; \$10.00 per 100

POTENTILLA—Cinquefoil

Nepalensis Roxana, brilliant salmon flowers, with darker veins, fine for border, 18-24 in.; summer blooming. \$1.20 per 10

*Tonquei, one of the finest wall or rock plants, in bloom continuously from June to frost, the long trailing branches, making lovely display with orangeapricot blooms, with an orange-red center. Plant in well drained, rather poor soil in full sun.

Each 20c; \$1.80 per 10

Potted plants for spring delivery at

\$1.20 per 10; \$10.00 per 100

*Tridenteta, shiny evergreen foliage and white flowers in late spring, 6 in.........\$1.20 per 10; \$10.00 per 100

*Verna Nana, also sold under the name of Cinerea and Matsumurae, a very compact growing, covered with lovely golden yellow flowers in May-June, only 2 to 4 in. high......\$1.00 per 10; \$8.00 per 100

*PRIMULA—Primrose

All Primula are best planted in fairly rich moist soil and shade, however many varieties of the veris type will get along nicely in full sun, if watered often during summer months.

Acaule, lovely cream yellow flowers in very early spring, only 3 to 4 in. high, a very profuse bloomer. \$1.20 per 10; \$10.00 per 109

Acaule Caerulea, lovely blue.....Each 25c; \$2.00 per 10

Acaule Rubra, large brilliant crimson, a very free bloomer and a good grower; rare.
Each 20c; \$1.75 per 10; \$15.00 per 100

Acaule Lilacina Fl. Pl. (Double Lavender), large double lavender pink flowers, rare and very pretty.

Each 25c; \$2.00 per 10

(Primula—Continued on next page)

Dianthus Alpinus Allwoodi is a pretty little pink

PRIMULA—Cont.

Cashmeriana, large round heads of bright violet on 12 to 15 stems.............\$1.40 per 10; \$12.00 per 100

Bulleyana, a pretty primula resembling the japonica, the flowers are of beautiful orange shade, late May and June flowering. Each 20c; \$1.50 per 10

Cortusoides, a distinct species with heartshaped leaves, and lovely deep rosy-pink flowers, on 10 to 12 in. stems.....\$1.20 per 10; \$10.00 per 100

Japonica, large leaves and pretty flowers of various colors, coming in whorles on 18 to 24 in. stems.

\$1.20 per 10; \$10.00 per 100

Frondosa, a tiny gem with rosy lavender flowers, on 4 in. stems; it is rather hard to keep in garden during our hot summers......Each 20c

Julia, a tiny primula covered in late spring with lovely flowers, claret, with golden eye. Each 20c; \$1.80 per 10

Julia Hellenae, a fine form of the above with burgundy-red flowers.....Each 20c; \$1.50 per 10

Julia Hyb. Primrose Lodge, large deep crimson flowers on 4 to 6 in. stems, free and early bloomer. Each 20c; \$1.75 per 10

Vulgaris, late blooming variety, with pale yellow flowers, 2 to 4 in.....\$1.50 per 10; \$1.50 per 100

Polyanthus (veris Polyanthus)

Kleyni, a strong grower with immense heads of rich, golden-yellow flowers, shaded apricot toward center.

Each 20c

Monstead Giants strain, finest mixed.

\$1.00 per 10; \$8.00 per 100

M. G. Mixed, over 50% yellow and cream shades. \$1.20 per 10; \$10.00 per 100

M. G. Yellow.....\$1.40 per 10; \$12.00 per 100

M. G. Cream \$1.20 per 10

M. G. Red.....\$1.20 per 10

Veris Queen of Heaven, grown from seed, various shades of blue.....\$1.50 per 10

eris Duplex (hose-in-hose), most unusual variety; each individual flower has another inside it; flowers are of an attractive shade of yellow, 8-10 in. high. \$1.50 per 10; \$12.00 per 100

Duplex Crimson and Gold, same as above with crimson and gold flowers. Each 20c; \$1.80 per 10

PULMUNARIA—Lungwort

- *Augustifolia Azurea, low growing tufts of dark green foliage, with heads of deep sky-blue flowers, April-May..... Each 20c; \$1.75 per 10
- *Saccharata, large spotted leaves with pinkish blue flowers, 12 in......Each 20c; \$2.00 per 10 both of above varieties prefer shade.

^{*—}Alpines or Rock Plants. ‡—Cutflower Varieties.

PYRETHRUM—Painted Daisy

- ‡Buckey, handsome large double red flowers during May and June.
- ‡Brilliant (NRA), not quite as double as buckey, but just as pretty, beautiful brilliant red.
- ‡Miami Queen, very lovely double pink. Prices of above three varieties. Each 20c; \$1.50 per 10; \$15.00 per 100
- ‡Single Mixed, a fine strain with many deep shades. \$1.00 per 10; \$8.00 per 100

RANUNCULUS—Buttercup

- ‡Acris Fl. Pl., double golden yellow flowers in May and June, 18 to 24 in......\$1.00 per 10
- *Gramineus, a rare species, with attractive grassy foliage and single yellow flowers

Each 20c; \$1.75 per 10

ROSA-Rose

*Rouletti, the tiny alpine rose strong, 3 in. pots. \$1.50 per 10

RUDBEKIA-Coneflower

- ‡Golden Glow, a popular variety with large double yellow flowers during July and August, 6 ft.
 - 80c per 10; \$6.00 per 100
- Newmanni, deep crange-yellow flowers with dark purple cone, July and August flowering, 2 to 3 ft. high. \$1.00 per 10
- ‡Purpurea (Echinacea), attractive purple flowers with large brown cone, a very good summer flowering plant, about 3 ft. high......\$1.00 per 10; \$7.00 per 100

SANTOLINA—Lavender Cotton

Incana, evergreen silvery foliage, button-like yellow flowers, in June, 12 in........80c per 10; \$6.00 per 100

SALVIA—Sage

- ‡Azurea, sky-blue flowers on 3 to 4 ft. stems, August and September......80c per 10; \$6.00 per 100
- Turkestanica Rubra, brightly tinted red flowers on 2 to $2\frac{1}{2}$ ft. stems; Summer...\$1.00 per 10; \$8.00 per 100
- ‡Pitcheri, a great fall flowering plant, the 4 ft. high branching stems are covered with deep gentian blue flowers......\$1.20 per 10; \$10.00 per 100

SAPONARIA—Soapwort

*Occymoides Splendens, pretty spreading plant, covered with pink flowers, May-June \$1.00 per 10; \$8.00 per 100

*SAXIFRAGA—Saxifrage

Incrusted varieties best planted in wall or narrow, deep crevices, sheltered from afternoon sun,; add limestone chips in the soil to make it well drained; blooming period late spring and early summer.

Aizoon, white, 12 in.........Each 20c; \$1.50 per 10 (Saxifraga—Continued on next page)

Potentilla Verna Nana is a very good seller

SAXIFRAGA—Cont.

Aizoon Flavescens, pale yellow...... Each 20c Aizoon Rosea, pale rose....... Each 20c; \$1.50 per 10 Longifolia Lown's Hybrid...\$1.40 per 10; \$12.00 per 100 McNabiana, white......\$1.20 per 10; \$10.00 per 100 Pyramidalis, white, 18 to 24 in.

\$1.40 per 10; \$12.00 per 100 Hostii, white......Each 20c Mossy Type, rich loose, moist soil in partial or full shade; spring blooming.

Bathoniensis Alba, large white flowers on 6 to 8 in. stems, May-June; easy...\$1.20 per 10; \$10.00 per 100

Moschata, distinct and very easy; white....\$1.20 per 10

Rhei Rosea, very compact and slow, pink...\$1.40 per 10

Ronsdorf Beauty, deep red, almost crimson. \$1.20 per 10

Megasea Cordifolia, very large heartshaped leaves, heads of pink flowers on 12-15 in. stems, easily grown in ordinary soil, sun or shade.....\$1.20 per 10

SCABIOSA—Scabious

‡Caucasica, a handsome hardy plant that blooms freely in early summer months, attractive large lavender-blue flowers that are fine for cutting, 2 ft. \$1.20 per 10; \$10.00 per 100

*Graminifolia, dwarf variety with variable foliage of silvery grey, with bright violet flowers on 12 in. Stems, during summer months; 21/4 in pots. Each 20c; \$1.50 per 10

*Parnassi (Pterocephalus Parnassi), compact mounds of gray foliage not over 4 in. high, with large mauve-pink scabiosa-like flowers on 3 in. stems, from June and on; a gem of easy culture in full sun.

\$1.50 per 10

SCUTELLARIA—Skullcap

*Baicalensis Coelestina, makes bushy growth, covered with clear blue snapdragon-shaped flowers, during July and August; fine for border and rock garden, 12 to 18 in.....\$1.20 per 10; \$10.00 per 100

*SEDUM—Stonecrop

Acre Minus, form of acre seldum more then an inch high. \$1.00 per 10

Album, fleshy leaves and white flowers,

80c per 10; \$5.00 per 100

Altissimum, fleshy glaucous foliage. Pale yellow flowers......\$1.00 per 10; \$8.00 per 100

(Sedum—Continued on next page)

^{*—}Alpines or Rock Plants.

Cutflower Varieties.

SEDUM-Cont.

Kamtschaticum, orange yellow flowers in June, 4 to 6 in., attractive and fine variety.

80c per 10; \$5.00 per 100

Pulchellum, lovely lavender pink flowers on 6 to 8 in. stems.......\$1.00 per 10; \$8.00 per 100

Reflexum, good foliage, with yellow flowers.

80c per 10; \$5.00 per 100

Sieboldi, still one of the loveliest sedum, pretty pink flowers during fall months.\$1.00 per 10; \$8.00 per 100

Spectabilis Brilliant, erect growing, large heads of brilliant red flowers, September flowering; a splendid border plant, 15 to 18 in.........\$1.00 per 10

*SEMPERVIVUM—Houseleek

Due to the fact that sempervivum is hopelessly confused in names, we cannot guarantee all of them to be true or correspond to plants listed under same name by other growers. We offer them under names of of which we have bought them.

Albidum, large tectorum-like rosettes of light green leaves Each 15c

Arachnoidem, small rosettes cobwebby.

80c per 10; \$5.00 per 100

Arachoideum Laggeri, larger rosettes than above. \$1.00 per 10

Arachnoideum Webbianum, a very rare and distinct form. Each 20c

Arenarium, tiny rosettes forming dense conies. 80c per 10; \$5.00 per 100

Atlanticum, large pale green downy rosettes, rare. Each 25c

Atropurpureum, large rosettes, glaucous, slightly purple. Each 20c

Barbulatum, small gray rosettes forming compact clusters. Each 20c

Beta, medium rosettes, brownish, slightly hairy. Each 15c; \$1.20 per 10

Blandum, medium rosettes of Brown-green turning red in winter, very attractive.....80c per 10; \$5.00 per 100

Brouni, medium size rosettes of brownish.

80c per 10; \$5.00 per 100

(Sempervivum—Continued on next page)

Hardy Primula for the Shady Rock Garden or Border

SEMPERVIVUM—Cont.

Atroviolaceum, strinkingly large red rosettes; one of the best......\$1.20 per 10

Argetarium, large rosettes, almost as red as atroviolaceum, a good propagator.....\$1.00 per 10

Calcareum, very distinct, large rosettes glaucous-blue, with red-purple tip.....Each 20c; \$1.50 per 10

Ciliatum Rubrum, a beautiful hybrid with medium size rosettes, hairy and pretty winter and spring color. \$1.50 per 10

Ciliosum (Juratens), medium rosettes slightly hairy. 80c per 10; 5.00 per 100

Charles Le Roy, a fine hybrid with large red rosettes. Each 20c

Comolli, large rosettes, gray-green tipped red, turning purple in winter.....\$1.00 per 10

Doellianum, small rosettes, pale green and brown. 80c per 10; \$5.00 per 100

Dolomiticum, small, fresh green red-purple tip Each 20c

Fimbriatum, small green rosettes becoming brown. 80c per 10; \$5.00 per 100

Funcki, medium rosettes, brilliant emerald green. Each 15c

Gamma, medium rosettes, gray and brown giving a very lovely effect in spring.....\$1.00 per 10

Glaum, large rosettes, light green, tipped brown, glaucous in winter.....\$1.20 per 10

Gaudini medium rosettes, narrow, slightly downey, erect leaves.....\$1.40 per 10

Globiferum, tight rosettes green, tipped red in winter. 80c per 10; \$5.00 per 100

Hirtum Erhle stock, forms large spreading rosettes of green, slightly tippel red.....\$1.00 per 10

Hirtum Corrivon stock, distinct from above variety. rather small rosettes of light green......\$1.00 per 10

Hirtum rarifolium, a rare variety that spreads freely. Medium size rosettes deep green in center surrounded with large brown spot on outside of the tips, turning to deep purple-red in winter.....\$1.20 per 10

Kindingeri, a distinct species of medium size rosettes of light green, probably same as Jubatum. \$1.20 per 10

Laharpei, large rosettes, green in summer and red in winter.....\$1.00 per 10

Lown's No. 60, large and hairy.....\$1.00 per 10

Morrellianum, 2 to 3 in. rosettes, compact green with red tips, distinct.......80c per 10; \$6.00 per 100

(Sempervivum—Continued on next page)

^{*—}Alpines or Rock Plants. ‡—Cutflower Varieties.

SEMPERVIVUM—Cont.

Modestum, form of Tectorum, distinct brown tips. \$1.00 per 10

Ornatum, large rosettes of glowing red and green. \$1.20 per 10

Pittoni, grey-velvet rosettes, yellow flowers.

Each 15c; \$1.00 per 10

Reginae Amaliae, distinct, medium size rosettes.

\$1.00 per 10

Royanum, distinct large rosettes of very light green, almost yellowish green. Each 15c

Rubicundum Hybrid, 3 to 4 in. rosettes, lower half red, tip and margins green, very striking......\$1.00 per 10

Tectorum Rubrum, large green rosettes shaded red. \$1.00 per 10

Triste, large rosettes of dark brown.

Each 15c; \$1.00 per 10

\$Shasta daisy, See Chrysanthemum Maximum.

SIDALCEA—Greek-mallow

SILENA—Catchfly

*Alpestris, starry white flowers in May-June, 6 in. \$1.00 per 10

*Maritima Rosea, masses of glaucous, blue foliage, lovely pale pink flowers, all summer, 6 in. \$1.00 per 10; \$8.00 per 100

*Maritima Fl. Pl., large double carnation-like flowers, from late May to fall, trailing habit. \$1.00 per 10; \$8.00 per 100

*Saxifraga, tufts of green foliage and starry white flowers. \$1.00 per 10

*Schafta, masses of bright pink flowers, July to September, 4 to 6 in......\$1.00 per 10; \$8.00 per 100

*Wherryi, a pretty new plant with showy large pink flowers in May and June, 6 in., fine and rare.
\$1.40 per 10

SPIREA AND ASTILBE

‡Aruncus, produces long, feathery panicles of white flowers, forming graceful plumes, 4 ft., June.

Each 25c; \$2.00 per 10

*‡Filapendula Fl. Pl., lovely double white flowers, on 12 to 15 in. stems, late May and June.

Each 20c; \$1.50 per 10

(Spirea and Astilbe—Continued on next page)

Trollius add aristocracy in the garden

SPIREA AND ASTILBE—Cont.

- Palmata Elegans, graceful plumes of light-pink flowers, June, 3 ft. high......\$1.50 per 10
- ‡Venusta, handsome plant, with rosy-carmine flowers in July and August, 4 ft. high; prefers rich moist Each 25c
- *Astilbe America, beautiful lavender-pink flowers during June and early July; splendid for cutting. \$1.70 per 10; \$15.00 per 100
- ‡Astilbe Gloria Superba, dense feathery plumes of brilliant dark pink........\$1.70 per 10; \$15.00 per 100
- *Astilbe Semplicifolia, pretty glossy leaves, covered with lovely white flowers on 6 to 8 in. stems, July and August; a dainty little plant for a choice shaded spot in the rockery. Each 25c
- ‡Astilbe, Mixed pink and red shades, at \$12.00 per 100 all Astilbes prefer rich moist soil, sun or shade.

STATICE—Sea Lavender

‡Latifolia, immense heads of purplish-lavender flowers during July and August, 18 to 24 in. \$1.00 per 10; \$8.00 per 100

STOKESIA—Stokes-Aster

- ‡Cyanea Caerulea, large aster-like flowers of pleasing light lavender shade, seldom over 18 in. high, fine for border and rockery....\$1.00 per 10; \$7.00 per 100
- ‡Cyanea Alba, a white form of the above....\$1.20 per 10

TEUCRIUM-Germander

*Chamaedrys, a splendid little sub-shrub with glossy evergreen leaves and rose-pink flowers during late

THALICTRUM—Meadow-Rue

- Aquilegifolium, graceful foliage, tiny flowers of various shades, 3 to 4 ft.....\$1.20 per 10
- Dipterocarpum, lilac mauve flowers with yellow stamens, 3 to 4 ft. high.....\$1.20 per 10

THYMUS-Thyme

- *Citriodorus variegata (golden variegated aurea thyme), very fragrant..........80c per 10; \$6.00 per 100
- *Citriodorus Argenteus variegata, the silver variegated lemon-tryme...........80c per 10; \$6.00 per 100
- *Lanicaulis, a distinct and rare species, woolly leaves and lavender flowers, a fine creeper......\$1.20 per 10
- *Lanuginosus (Wooly Thyme), wooly grey foliage; a fine ground cover for dry places.
 - 80c per 10; \$6.00 per 100

*Herba Barona, a fine prostrate species, strongly caraway scented, purple flowers in May-June. \$1.00 per 10; \$8.00 per 100

(Thymus—Continued on next page)

⁻Alpines or Rock Plants.

⁺⁻⁻Cutflower Varieties.

THYMUS-Cont.

- *Nitidus, like miniature silvery Irish yew, covering itself with rosy-lilac flowers in June, about 12 in. high. \$1.00 per 10; \$8.00 per 100
- *Serpyllum Album, a lovely creeper covered with white flowers in June-July.....\$1.00 per 10
- *Serpyllum Carneus, a lovely flesh colored form of serpyllum.....\$1.00 per 10
- *Serpyllum Coccineum, same as above, covered with brilliant crimson flowers.....\$1.00 per 10

TRADESCANTIA—Spiderwort

Brevicaule, dwarf species with rose-pink flowers from May to July; fine for shade.

\$1.00 per 10; \$8.00 per 100

Blue species, a much superior variety than the common Virginica; it grows 2½ to 3 ft. high, the stems are stiff and erect growing; it blooms very profusely all summer, best planted in shade; if planted in the full sun flowers will be closed in the afternoon.

\$1.00 per 10; \$8.00 per 109

TRILLIUM-Wood-Lily

Grandifferum, lovely white flowers in the early spring; plant in shade.....\$1.00 per 10; \$8.00 per 100

TRITOMA-Red Hot Poker

- ‡Pfitzeri, the true late summer blooming variety, with rich orange-scarlet flowers, very showy and fine for cutting......\$1.20 per 10; \$10.00 per 100
- ‡Hardy Hybrids, earlier blooming and very hardy, with flowers of various shades of cream, yellow, orange and scarlet, on 3 to 4 ft. spikes, June-July.

\$1.00 per 10; \$8.00 per 100

TROLLIUS—Globeflower

Europaeus, lemon-yellow flowers freely produced in late April and May and sometime again during summer and fall months; 18 in. high.

\$1.20 per 10; \$10.00 per 100

Orange Globe, large orange-yellow form of the above, being a little taller and showier.

\$1.75 per 10; \$15.00 per 100

- Orange Prince (new), a beautiful deeper orange-yellow, form of orange globe......Each 25c; \$2.00 per 10
- Ledebouri Golden Queen, a handsome variety, with large open flowers of beautiful golden yellow, being in bloom about three weeks later than above varieties, height about 3 ft....\$1.40 per 10; \$12.00 per 100 All Trollius prefer rather rich and moist soil, and are much benefited if planted where they will be shaded from afternoon support.

from afternoon sun.

Let us help you to select the best varieties for your purpose.

TUNICA-Tunicflower

*Rosea Fl. Pl. (double Tunica), lovely double rose-pink flowers, freely produced from June to fall. \$1.20 per 10; \$10.00 per 100

UMBELLICUS (Cotyledon)

*Chrysanthus, sempervivum-like plant, with grey-green rosettes, flowers, yellow.....\$1.00 per 10

VALERIANA—Garden Heliotrope

‡Coccinea (Centranthus Rubra), a grand border plant, with showy rose colored flowers, blooming very freely in May and June, with few flowers appearing all through the summer; about 18 to 24 in. high. \$1.00 per 10; \$8.00 per 100

‡Coccinea Alba, a lovely white flowering form of the above. \$1.00 per 10; \$8.00 per 100

VERBENA (Hardy)

*Canadensis, a choice creeping, hardy verbena, violetpurple flowers from May to fall. \$1.20 per 10; \$10.00 per 100

VERONICA—Speedwell

- *Armena, a lovely and very distinct little veronica, attractive finely-cut foliage and blue flowers in early spring, 2 in. pots...........\$1.00 per 10; \$8.00 per 100
- *Incana, silvery-gray foliage, deep blue flowers in June; 12 in.....\$1.00 per 10; \$8.00 per 100
- ‡Longifolia Subsessilis, charming summer blooming hardy plant that deserves a place in every garden, large or small; 18 to 24 in. spikes of beautiful blue flowers, July to September; splendid for cutting. \$1.20 per 10; \$10.00 per 100
- *Pectinata Rosea, a lovely creeper, with silvery foliage
- and small rose colored flowers.....\$1.00 per 10
- *Rupestris, creeping habit deep blue flowers in late May and June.....\$1.00 per 10
- *Rupestris Alba, choice variety of the above, with pure white flowers......\$1.20 per 10; \$10.00 per 100
- *Rupestris Flexuosa, a lovely pale blue form, very compact growing, April-May flowering. \$1.00 per 10; \$8.00 per 100
- *Rupestris Nana, a tiny gem covered with deep blue flowers in early spring; fine for rockery and between stepping stone walks.....\$1.20 per 10
- *Rupestris Nana Rosea, form of above with mauve pink flowers.....\$1.20 per 10; \$10.00 per 100

(Veronica-Continued on next page)

^{*—}Alpines or Rock Plants. ‡—Cutflower Varieties.

VERONICA—Cont.

- *Saxatilis, neat evergreen creeper, with dark shiny foliage and bright blue flowers in late spring, 4 to 6 in......\$1.20 per 10
- *Spicata Nana, an attractive dwarf form, growing about 12 in. high, blooming freely during summer months.....\$1.00 per 10; \$8.00 per 100
- *Spicata Rosea, pale pink blooming all summer; 15 to 18 in.....\$1.00 per 10; \$8.00 per 100
- *Trehani. very distinct, with golden foliage and pale blue flowers......\$1.00 per 10; \$8.00 per 100
- *True Blue, 12 in. high, a lovely deep blue variety; May June\$1.20 per 10

*VIOLA—Tufted Pansies

- Florariensis, mottled blue and white flowers, April to fall.....\$1.00 per 10
- G. Wermig, small rich violet blue. \$1.00 per 10
- *Jersey Gem we offer the true stock of this popular bedding viola......\$1.00 per 10; \$8.00 per 100
- White Jersey Gem, pure white flowers......\$1.00 per 10
- Maggie Mott, handsome soft lavender-blue; 2½" pots; spring delivery.....Each 20c; \$1.50 per 10
- Purple Glory, we consider this new variety, the finest of them all; it stands the hot weather better than any variety we know of. The attractive large rich purple flowers are freely produced from early spring to fall, rather compact in growth, \$1.20 per 10; \$10.00 per 100
- Sutton's Apricot, beautiful deep apricot shade, tinged orange toward the center. \$1.20 per 10; \$10.00 per 100
- Yellow Queen, a beautiful large yellow, one of the best

VIOLA ODORATA—Sweet Violet

- *Prince of Wales, rich deep purple flowers of large size. \$1.00 per 10; \$8.00 per 100
- *Double Russian, very sweet scented double flowers, best planted in shade......\$1.40 per 10; \$12.00 per 100
- *Resina (The new pink fragrant Violet), lovely pink and rose shades, blooming freely in the spring and again in the fall; shade...\$1.20 per 10; \$10.00 per 100

YUCCA-Adam's Needle

*Variegata, the foliage is golden variegated, resembling the greenhouse pandanus, handsome as a specimen plant or grouping effect, white flowers. \$1.20 per 10; \$10.00 per 100

Primula Acaule Rubra has a very Brilliant and

attractive color

Hardy Garden Lilies

Strong Blooming size Bulbs

The following selection represents some of the finest Lilies grown. Practically all of them will grow very neely in ordinary garden soil. By planting few, each, of this selection you will have lilies blooming from May to frost; all are fine for cutting.

*Amabile, a rare species seldom over 18 in. high, pretty recurving flowers of a brilliant tone of orange-scar-let, fine for rockery or border; June flowering. Each 15c; \$1.00 per 10

- *Concolor, a very lovely dwarf Lily, the flowers are erect, star-shaped of deep scarlet; 18 in. late June and July..... Each 15; \$1.00 per 10
- Maximowiczii, an Asiatic species resembling the tiger lily, but of better color, taller and having large head of bloom; July-August, 4 to 6 ft.

Each 15c; \$1.00 per 10

long graceful trumpet Philippinense Formosanum, flowers in September and October; the flowers are pure white with pale emerald-green throat. Each 15c; \$1.00 per 10

- Regale, the popular Royal Lily. Each 15c; \$1.00 per 10
- Speciesum Rubrum, a well known garden Lily with rich ruby-carmine margined white flowers, August-September......Each 20c; \$1.50 per 10
- Superbum, a beautiful American lily bearing many recurring flowers, orange-yellow spotted in the center; late July flowering, 3 to 5 ft...Each 15c; \$1.00 per 10
- *Tenuifolium, a lovely small lily with many scarlet flowers during late May and June. Each 15c; \$1.00 per 10
- *Tenuifolium Golden Gleam, a pure apricot-yellow form of the above.....Each 20c; \$1.50 per 10
- Tigricum, the well known tiger lily. Each 15c; \$1.00 per 10
- *Umbellatum Orange, one of the finest early flowering lilies, large erect flowers of beautiful light orange-red, blooming very freely during May and June. 2 ft. high. Each 15c; \$1.00 per 10
- Willmottiae, a tall graceful lily, with flowers of vivid orange-red and small brown spots; July-August, 4 to 5 ft high......Each 20c; \$1.50 per 10
- Special offer—three each of any 6 varieties or more at the 10 rate.

[—]Alpines or Rock Plants. —Cutflower Varieties.



How To Reach Us

Take Manchester Ave. Go Straight Till You Come To Our Sign Turn Right To Gorsuch Road. We are 300 Feet From New State Road, First Place At Left.